Change in
log,_error, SR JHU (8M) SR (8M)

IUPM = 0.5

U. Pitt -0.06 -0.05 0.01 0.00 0.04
- FiItt. (-0.09 t0 0.00) (-0.10t0 0.02) (-0.08 to 0.34) | (-0.08t0 0.15)  (-0.09 to +)

0.06 0.00 0.07 0.05 0.10
(0.00 to 0.09) (-0.03 10 0.06) (-0.02t0 0.39) | (-0.02 10 0.19)  (-0.02 to +00)
0.05 0.00 0.06 0.05 0.09
(-0.02 10 0.10) (-0.06 to 0.03) (-0.03 10 0.40) | (-0.03t0 0.19)  (-0.03 to +o)

o -0.01 -0.07 -0.06 -0.02 0.04
(-0.34100.08) (-0.39100.02) (-0.40 to 0.03) (-0.34100.12)  (-0.16 to +)
0.00 20.05 20.05 0.02 0.05
CLURCLUR () 1510 0.08) | (-0.19 10 0.02) | (-0.19 10 0.03) | (-0.12 t0 0.34) (-0.12 1o +0)
-0.04 -0.10 -0.09 -0.04 -0.05
SR (8M) (<010 0.09) | (10002 | (©t0003) | (©t00.16) | (t00.12) -

Change in
log,, error, JHU (8M) SR (8M)
IUPM = 1

U. Pitt -0.02 -0.03 0.01 0.01 0.04
: " (-0.04t00.01) (-0.05t00.02) (-0.04t00.13) | (-0.03t00.10) (-0.04 to 0.18)

0.02 -0.01 0.03 0.03 0.06
(-0.01 to 0.04) (-0.031t0 0.03) (-0.02to0 0.16) | (-0.01 t0 0.12) (-0.02 to 0.20)
0.03 0.01 0.04 0.04 0.06
(-0.02t0 0.05) (-0.03 to 0.03) (-0.021t0 0.16) | (-0.02t0 0.12) (-0.02 to 0.20)

- -0.01 :0.03 :0.04 0.00 0.02
(01310 0.04) (-0.16100.02) (-0.16 to 0.02) (-0.1310 0.08) (-0.14 t0 0.18)
20.01 0,03 20.04 0.00 0.02
CLURCLURE () 10 10 0.03) | (-0.1210 0.01) | (-0.12 10 0.02) | (-0.08 t0 0.13) (-0.08 10 0.17)
SR (M) -0.04 -0.06 .0.06 -0.02 :0.02
(-0.18 10 0.04) | (-0.20 10 0.02) | (-0.20 t0 0.02) | (-0.18 t0 0.14) | (-0.17 t0 0.08)

Change in
log,, error, JHU (8M) SR (8M)
IUPM = 2

U. Pitt -0.01 -0.01 0.01 0.02 0.03
o LAILE (-0.03 10 0.01) (-0.04 t0 0.04) (-0.03 to 0.07) | (-0.02t0 0.07) (-0.02 to 0.13)

0.01 -0.01 0.02 0.03 0.04
(-0.01 to 0.03) (-0.03t0 0.05) (-0.02 to 0.08) | (-0.02 to 0.08) (-0.02 to 0.13)
0.01 0.01 0.02 0.03 0.04
(-0.04 t0 0.04) (-0.05 to 0.03) (-0.04 t0 0.08) | (-0.03 t0 0.08) (-0.03 to 0.14)

- -0.01 0.02 :0.02 0.01 0.02
(-0.07 10 0.03) (-0.08 10 0.02) (-0.08 to 0.04) (-0.06 t0 0.08) (-0.04 0 0.11)
20,02 0,03 0.03 -0.01 0.01
CLURCLURE () 07 10 0.02) | (-0.08 t0 0.02) | (-0.08 to 0.03) | (-0.08 to 0.06) (-0.06 10 0.11)
SR (M) -0.03 -0.04 :0.04 0.02 -0.01
(-0.1310 0.02) | (-0.13 10 0.02) | (-0.14 t0 0.03) | (-0.11 t0 0.04) | (-0.11 to 0.06)



